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SECTION A: BIOLOGY [35]
QUESTION 1 (20)

Question Type: Multiple Choices. Choose and write a letter corresponding to the
correct answer. Each correct answer carries 1 mark.

1.1 Choose the correct statement about how humans fit in with the rest of nature.

Humans are a part of an evolutionary process.

Humans share the same cellular chemistry with other living things.
Humans are a part of the biosphere.

All of these are correct.

oCowm>

1.2 Organisms within communities and ecosystems feed on one another to obtain
energy and nutrients. What component does not cycle within an ecosystem?
A. soil nutrients
B. energy
C. plant nutrients
D. components of hard animal structures.

1.3 occurs when organisms try to get the same resources.

Predation
Competition
Parasitism
Symbiosis

co®p

1.4 All of the following are examples of negative symbiosis except;

commensalism.
competition.
predation.
parasitism.

Do w>

1.5The main function of rennet in the manufacture of hard cheese is to ;

make the milk taste better

lower the pH of milk and kill the other lactic acid bacteria

lower the pH of milk and form of curds

enhance removal of whey so that the cheese can be made more efficiently

Dowp
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1.6 Unsaturated fats;

are more common in animals than in plants

have fewer fatty acid molecules per fat molecule

are associated with greater health risks than saturated fats
have double bonds in their fatty acid chains

HOowmE

1.7 Viruses are assigned to the kingdom;

Archaebacteria
Eubacteria
Protista

none of the above

cowp

1.8 Fungidigest their food by

photosynthesis and then absorbing the small nutrients externally

phagocytosis and secreting enzymes onto the food before digestion.

. releasing digestive enzymes into their food and digesting it externally

. dissolving food into simpler nutrients and then absorbing the food through
photosynthesis

00w

1.9 What gives yoghurt a sour taste?

Lactic acid

Sour milk

Fermented fruits
Complete fermentation

oow>

1.10 A starter culture in the food industry is

fungi that are used to make food rot so that we can eat the food

bacteria that are used in the fermentation of food products

a microorganism that is used to control the growth of other organisms

a microorganism that can withstand high temperatures and can be used in
fermentation industries

oo ®»

1.11 Which one of the following does NOT explain why there is a decrease in energy
through the trophic levels in an ecosystem?
A. Thereis anincrease in biomass as trophic levels decrease.
B. Thereis anincrease in the number of individuals as trophic levels decrease.
C. Energy is lost as organisms grow older over time.
D. Energyis lost from the processes of respiration and metabolism.

e
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1.12 Which statement illustrates a biotic factor interacting with an abiotic factor?

A.

1.13

A.

1.14

A sea turtle transporting a pilot fish to a source of food.

B. Arock moving during an earthquake.
C.
D. Wind cause waves to form on a lake.

A plant absorbs sunlight, which is used for photosynthesis.

Two groups are absolutely essential to the functioning of an ecosystem. They are;

biotic and abiotic

B. producers and carnivores
C.
D. producers and decomposers

sun and air

Which ecological interaction or symbiotic relation is represented by diagrams |

and Il below?

oow>

1.15

Oo0ow

I) Cooperation Il) Parasitism
[) Cooperation I1) Mutualism
l)Commensalism ll) Competition
[)Predation 1V) Parasitism

The condensation of glucose and fructose will yield

maltose, a disaccharide
sucrose, a disaccharide
lactose, a polysaccharide
sucrose, a polysaccharide
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1.16

Retardation in growth and poor bones development in children is due to the

deficiency of which nutrient and mineral?

A.

1.17

Carbohydrates and Potassium

B. Proteins and Calcium
C.
D. Water and lodine

Fats and Vitamin D

Enzymes are secreted by the body to facilitate digestion by breaking bonds

between repeated sugar units. The hydrolysis of maltose will yield

A. glucose and glucose
B. glucose and lactose
C. glucose and fructose
D. glucose and galactose
1.18 Which class of vitamins has the potential of becoming toxic to the body and
why?
A. Vitamin C and B, because they need to be taken in daily.
B. Water-soluble vitamins are they can easily be transported throughout the body.
C. Fat-soluble vitamins when taken in excessive amounts, as they stay longer in the
body.
D. Water -soluble vitamins as they can easily be transported to different body parts
by water.
1.19 Fibre cannot be digested; however, it is an important part of our diet for various

reasons. ldentify, which of the following reasons is false?

A. As itremains undigested it passes through the entire gut from mouth to anus and

thus keeps food moving smoothly through our system.

B. It prevents constipation.
C. The fibre absorbs poisonous waste from the digested food.

D. High fibre diets are believed to increase the risk of heart disease, bowel cancer

and cholesterol in the body.
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1.20 What is function of fermentation in the production of yoghurt?
A. to convert lactose to lactic acid which coagulates the milk.
B. to adds sweetness to the yoghurt.
C. to soften the yoghurt.
D. all of the above (A, B & C).

QUESTION 2 [15]
Question Type: Structured Questions.
2.1 State SIX characteristics of living things. (3)

2.2 Given the following information on the classification of the African elephant, write
down its scientific name? (2)

Kingdom: Animalia
Phylum: Chordata
Class: Mammalia
Order: Proboscidea
Family: Elephantidae
Genus: Loxodonta

Species: Africana

2.3 Discuss why producers and decomposers are indispensable in the smooth

functioning of the ecosystem. (2)
2.4 State four important uses of proteins in your body. (4)
2.5 Discuss the significance of fermentation in bread and yoghurt production. (4)

ne et M o
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SECTION B: CHEMISTRY [35]

QUESTION 3: (20)

Question Type: Multiple Choices. Choose and write a letter corresponding to the
correct answer. Each correct answer carries 1 mark.

3.1 The density of water can be classified as an;
A. Extensive chemical property
B. Extensive physical property
C. Intensive chemical property
D. Intensive physical property

3.2A results in a new substance and it cannot be reversed by physical mean.

Physical change
Chemical change
Physical property
Chemical property

Comp

3.3 What is the correct formula when converting from °F to °C?
A.°C=1.8(°F) + 32

°F—32
B. °C=

Fl'gz

°F+
C.°C=

48
D.°C=—-32

1.8

3.4 One of the following rules DOES NOT apply when determining significant figures.
A. Non-zeros digits always count as significant figures
B. Leading zeros do not count as significant figures
C. Trailing zeros always count as significant figures
D. Captive zeros always count as significant figures

3.5 The below electronic configuration has been derived from;

Magnesium (Mg) which has lost 2 electrons
Oxygen (O) which has gained 2 electrons
Neon (Ne) which has 10 electrons

None of the above

Sow>
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3.6 According to the Bronsted-Lowry’s theory
A. An acid requires a base to have OH-
B. An acid is substance that receives a proton
C. An acid is a substance that donates a proton
D. Aand C are correct.

3.7 Which statement is correct about the Alkali metals group on the Periodic Table?
A. They have density less than water
B. They are the most reactive metals
C. They form positive charged ions during ionic bonding
D. All of the above

3.8 If concentration of H* is equal to 1 x 107 then solution is
A. Neutral
B. Basic
C. Acidic
D. Aqueous

3.9 Elementsin group 1;
A. Will likely gain one electron in their outer shell
B. Will likely lose one electron of their outer shell
C. Canbehave as either A or B depending on electrons availability
D. They are inert elements (do not exchange electrons)

3.10 Sodium hydrogen carbonate is used in the following;
A. Used in drains and oven cleaners
B. Additives in food and drinks
C. As an antacid to relieve indigestion
D.BothAand C

3.11 One of the followings IS NOT a base;
A. NaOH
B. KOH
C. CH3;COOH
D. Ca(OH),

3.12 The mixture of two or more metals is known as;
A. Ore
B. Alloy
C. Metalloid
D. Mineral
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3.13 Anelement has an atomic number 14, this element belongs in group
and period

4,3

5,2

3,4

2,5

BOmP

3.14 Magnesium hydroxide is used in the following;
A. Used in toothpaste to neutralize acid
B. Aids in digestion in the stomach
C. As an antacid to relieve indigestion
D.BothAand C

3.15 Physical properties of bases;
A. Turns red litmus paper blue
B. pH lessthan 7
C. Turns blue litmus paper red
D. pH equalto 7

3.16 How many significant figures does this number have: 104, 000?
2

oo®p

3
. 4
6

3.17 How many electrons are in a lead (IV) cation (Pb*4)?
A. 82
B. 78
C. 86
D. 207.2

3.18 How many neutrons are present in the nucleus of a strontium (Sr) — 88 isotope?
A. 38
B. 50
C. 87
D. 88

3.19 Which of these bases is not an alkali?
A. NaOH
B. KOH

C. Ca(OH),

D. Cu(OH),

e g e = —
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3.20 A strong base has a pH of
A 7
B. 5-9
C. 1-3
D. 12-14

QUESTION 4 [15]
Question Types: Brief statement responses.

4.1 Hydrochloric acid is a strong acid. What is meant by a strong acid? (M

4.2 Write the following numbers to the CORRECT scientific notation form: (2)
a) 22.96x 108
b) 0.728 x10°

4.3. Draw the electronic configuration fluorine and calcium ion. (2)

4.4 Name the products obtained from the following reactions: (2)
a. Acid + Metal —»
b. Acid + Water —

4.5 Carry out the following operations and express each answer to correct number of
significant figures and units. (3)
a)5.6792m+4.33m+0.6m=
b)3.70g-2.9133g=
c)4.51 cm x 3.6666 cm =

4.6 ldentify the separation techniques used in the following mixtures: (5)

Mixtures Separation technique
Rice and water

Water and ethanol
Water and kerosene oil
Salt water

Butter and cream

S S S
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SECTION AC: PHYSICS [30]

QUESTION 5 (20)

Question Type: Multiple Choices. Choose and write a letter corresponding to the
correct answer. Each correct answer carries 1 mark.

5.1 Which of the following is the main purpose of a graph?
A. To show the data clearly
B. To decorate some of the information that may be difficult to express in another
form
C. To compress a large set of data into a form that is clear, manageable and easy to
read
D. To simplify things that are too complex

5.2The advantage of using a line graph over bar graph is that a line graph can
show
A. The speedofcarAorB
B. Canshow how car A accelerates faster than carB
C. Thevariation between two variables over a given time
D. None of the above

5.3 The following graph is discrete and descriptive.
Line graph

Bar Graph

Histogram

Pie chart

cowp

5.4The following sets a line graph apart from a bar graph.

The length or height of the bar is equal to the quantity within that category of data
Show change over a period of time

Composed of discrete bars that represent different categories of data

Well descriptive and easily understood

Dem»

5.5Which is not correct about a bar graph?
A. The length or height of the bar is equal to the quantity within that category of data
B. Show change over a period of time
C. Composed of discrete bars that represent different categories of data
D. Well descriptive and easily understood

5.6 is Not a Renewable source of energy
A. Geothermal
B. Tidal

C. Biomass

D. None of the above
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5.7 The energy produced by the ocean as a result of the movement of water flowing back
and forth is called
A. Geothermal
B. Heatenergy
C. Hydroelectric
D. Tidal

5.8If the acceleration of the body is 10.0 m/s?, what is the value of a force X in figure
below?

X

‘ b

30N 3kg e
21N
15N
10N

v

=Rl

5.9 involves using visual representation to present data.
Polygon

Graph

Pyramid

None of these

EnpEP

5.10 Whatis the full meaning of lin the acronym T.A.l.L.S used in constructing a
graph?

A. Intercept
B. Inline
C. Interval

D. None of these.

5.11 Consider the following acronym T.A.I.L.S. Which one is NOT correct?
A. When drawing a graph, an interval is not needed.
B. Atitle for a graph should be considered.
C. Know which graph you required to draw.
D. The graph should be 2/3 the size of the graph page.

5.12 Whatis the formula for calculating weight (W)?
W =mv
. W=mt
W =mg
W=md

® >

S
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5.13

5.14

5.15

5.16

5.17

5.18

Which of the following is a fundamental force of nature.
A. Gravity.

B. Vibration

C. Elasticforce

D. Frictional force.

What is resistance?

A. How much electricity flows through a given point

B. None of the above

C. the movement of negative charges (electrons) in a circuit

D. How much electricity is prevented from flowing through a give point

A measure of how much energy electrons receive is known as;
A. Battery

B. charge

C. resistance

D. Voltage

If a parallel circuit is opened in the main line, the current_____
A. Increases inthe branch of the lowest resistance

B. Increasesin each branch

C. Iszeroin all branches

D. Iszeroin the highest resistive branch

Isotopes of an element have a different number of;
A. Proton

B. Neutron

C. Electron

D. Atom

The process by which the nuclei of a nuclide emits a photon is known as;
A. Alphadecay

B. Gamma decay

C. Betadecay

D. Allthe above
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5.19 is not a renewable source of energy.
A. Geothermal
B. Tidal
C. Biomass
D. None of the above

5.20 The energy produced by the ocean as a result of the movement of water flowing
back and forth is called;

A. Geothermal
B. Heatenergy
C. Hydroelectric
D. Tidal

QUESTION 6 (10)

Structured questions

6.1 Calculate the resultant force. (4)
20N 40 N
100 N 100 N
100 N
6.2 Determine the current (I) across the circuitin the figure below? (4)
50V

X

— 1 ]
(S I (S

12 0.8
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6.3 Distinguish between half-life and radioactive decay. (2)

END
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